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Note ~— (i}  Answers may be written either in English or in
Hindi; but the same medjum should be used
throughout the paper. :

(i) The maximum marks printed on the question
paper are applicable for the students of the Cat,
‘B’. These marks will, however, be scaled down
proportionately in respect of the students of Cat.
‘A’ at the time of posting of awards for
compilation of result.
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Find the value of *Third Quartile’, if the values of ‘First
Quartile’ and ‘Quartile Deviation® are 80 and 10

respectively. 2
Write two limitations of ‘range’ as a measure of dispersion. 2

Write the two regression equations, i.e., the regression
equation X on Y and the regression equation Y on X
if the coefficient of correlation between X and Y is

ZET0. 2

“Mean deviation from median is less than both the mean
deviation from mean and the mean deviation from mode.”
Do you agree with this statement 7 Give reason for your

answer. 2
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(i)

Find the mean and standargd deviation of the following

observations :

Transform the above observations such that the
mean of transformed observations becomes double

of the mean of X, standard deviation remaining

unchanged. 32
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(6) Foliowing is the distribution of marks obtained by 50

students in statistics paper -

Marks (more than) No. of Students
0 0
[ 10 46
20 40
30 X
40 10
30 3
0 0

() Calculate ‘Quartile Deviation’ from the above data.

(if) 1f 60% of the students pass the test; find the minimum

marks obtained by a pass candidate. 9
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(3t
(@ An investor buys T 3,000 worth of shares of a company
each month. During the first four months he bought the
shares at a price of ¥ 10, T 15, T 20 and T 30 per
share. Find the average price paid for the shares bought

by him during these four months by using appropriate

measure of central value. 5

(b)) Given the following data, compute the Karl Pearson’s

coefficient of correlation between X and Y. 9

xY | 30—s0 | 5070 | 70—90 | Total

4
05 10 6 2 18
5—10 3 5 4 12

10—15 4 7 9 2

Total 17 18 15 X0
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ii Y21 3050 | so—70 | 70—90 | @r
05 10 6 2 18
510 3 5 4 2
10—15 4 7 9 2
aq 17 18 15 50

{a)  Briefly explain the ‘Simple Aggregate Method’ for
constructing price index number. Also point out its

limitations. 5
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(b}  Given :
Base Year Current Year
Commodities Price Total Price Total
per unit | Expenditure | per unit | Expenditure
@ €9 @ ®)
A 2 40 5 [A]
B 4 16 8 40
C 1 10 2 .
b 5 25 10 &0

From the above information :

@

Calculate Fisher's Price Index Number and Fisher’s

Quantity Index Number,

(i) Calculate Value Index Number and Verify that the

Fisher’s Method satisfies the

Test’.

‘Factor Reversal
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A 2 40 5 7
B 4 16 8 40
‘ C 1 10 2 2
D 5 25 10 60
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(¢) Find “chain indices’ (taking 2006 as base year) from the

‘Link Relatives’ given below : 5
Year Link Relatives
2006 110
2007 | 150 '
2008 140
2009 200
2010 150
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()  Calculate the consumer price index for the year 2010 with

2005 as the base year from the following data using

‘Family Budget Method’ : 9
Commodity | Quantity (in units) [ Price ®/Unit)
2005 2005 2010
A 50 12 2
B 100 10 12
C 60 14 15
D 30 16 18
E 40 18 0
F & 15 18

(m)ﬁ%ﬁqwq‘ﬂj'@f%maﬁfmﬁ’ﬁ‘ﬂj@%am’
(2006 ' MR = AR gW) WA HBW .

EL | safea amafires
2006 110
2007 150
2008 140
2009 200
2010 150
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(@) ‘dftar-s=e gomett’ 1 I9dm d gu frefated

SHST ¥ 2005 F YR FH HEARL I 2010 H

fon e #img goww afiaEfaa Sifse

T | UET (Gt ®) | @ | (5EE)
2005 2005 2010
A 50 12 20
B 100 10 12
C 3 4] 14 15
|
D 30 i6 18
E 4 18 2
*
F 80 15 18

(@)

What is ‘scatter diagram’ ? How does it help us in

studying the correlation between two variables in respect

of both its nature and extent ?
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(6)  Obtain the two regression equations and find correlation

coefficient between X and Y from the following

data : ‘ 9
X Y
10 6
9 3
7 2
8 4
i s
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X Y

10 6

9 3

7 2

8 4

1 5

Or
(3rgam)

Given :
Covariance between X and Y = 16

Variance of X = 25, Variance of Y = 16

() Calculate coefficient of correlation between X

and Y.

(ify If arithmetic means of X and Y are 20 and 30

respectively, find regression equation Y on X. 2+3
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()  Fit a straight line trend to the following data by least

squares method taking 2006 as the year of origin and

estimate exports for the year 2013 : 9
Year Exports
{in '000 tons)
2004 47
2005 | 50
2006 53
2007 65
2008 &2
2000 &
2010 n

() w&a
X MR v & 99 e - 16
X ® YW =25, V' H YA = 16
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(@) 2006 H HA T W gL gAH T WO X
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(co00 A1 H)
2004 £
2005 50
2006 s
2007 &5
2008 &
2009 64
2010 7
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